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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
Topic 3 1685 26 7.2 40 65.1 85.3
Topic 4 290 25.5 6 40 63.9 14.7
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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AO2 AO3 


2. 
(a) (i)


salutatio/morning greeting/clients greeting their patron (1) 1 


(ii) Those taking part were given money/gifts or sportula by their 
patron 


(1) 1 


(b) Could receive the sportula/handout each morning 
Patron would advise the client if in trouble – client had the help of 
someone more influential than him 
Might give him gifts/money – this would enable the client to thrive 
Find him employment/set him up in business – enabled the client 
to make a living 
Speak for him in court – a poorer person would not have access 
to this kind of support otherwise 
Invite him to dinner – enabled the client to meet influential people 


But 
Turning up at the salutatio every morning was tedious – 
demeaning to have to join a crowd in the hope of a handout 
Client had to dress in a toga and/or call his patron domine – 
pointless formality  
Might not even see patron/or receive anything – client would 
have wasted his time 
Would do menial tasks for his patron – these might be boring 
Might still have to work for his ex-master for a certain number of 
days each year – not completely free of control 
Lead the applause if the patron spoke in court - hypocrisy 
Help the patron if standing for election – this would be time-
consuming, taking the client away from earning a living 
Sometimes given inferior food/wine at dinner party and/or sat 
away from the host – this was demeaning 


However, In the absence of state aid, a patron might be a client’s 
chief source of support so clients may have put up with boring 
and time-consuming duties. 


Three marks for examples 
Three marks for evaluation 


(6) 3 3 


Total marks for question 2: [8] 
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2. Read this poem by Martial and answer the questions.


How much longer have I got to turn up to these early-morning buttering-up sessions, 
mingling with the mob of followers and little men all done up in their posh togas? And for 
what? A handful of cash for a full day’s work.


(a) (i)	 What occasion is Martial describing here? [1]


(ii) 		Explain the reference to ‘a handful of cash’ in the last line. [1]


(b) To what extent do you think the system of patrons and clients benefitted the clients?
Make three points and explain your views. [6]
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AO2 AO3 


5. The Forum 
Ideal place to meet friends and socialise 
Paved pedestrian area made it pleasant to do so 
Colonnades ideal to idle away time 
Forum often had temples for worship dedicated to many gods - 
examples 
Shopping opportunities with stalls set up in open space  
Weights & measures table to ensure fair trading 
Basilica – commercial centre important for businessmen 
Lawcourt  
Senate House in Roman forum  
Municipal offices – local government  
Election rallies took place here  
Political speeches – e.g. the Rostra in Rome 
Comitia for voting  
Schooling sometimes took place in the colonnades 
Notice board gave details of upcoming events and news 
Public toilets 
For some, it was a place of work (details) enabling them to make 
a living 


Elsewhere 
Public entertainment venues were not in the forum (although 
poets sometimes recited their work there) 
Baths, amphitheatre, theatres, circus – all elsewhere. 
Many more shops elsewhere in a town 
Especially bakers and thermopolia 
Taverns elsewhere in the town 
Water collected from public fountains 
Business often done in the baths 
People worked at home 
Socialising often took place at dinner parties in the home 
Tombs usually outside the town and were visited by family 
members 
Reference to merchants/tradesmen who had to spend time at the 
port 


Houses and flats were not in the forum 


The significance of the forum varied according to social 
class and gender. Some would go frequently for work, 
elections, admin work etc but the lower classes would 
spend more time at a place of work/thermopolia etc. The 
same applies to women and enslaved people. 


Allocate marks using grid for 12-mark questions. Do not reward 
overlapping information. 


(12) 6 6 


Total marks for question 5: [12] 


Total marks for paper: [40] 
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Assessment of 12-mark questions  
 
These questions should not be assessed on a point-by-point basis. Rather, examiners 
should use the grid below to assess the extent to which responses broadly meet the 
following requirements: 
 


• appropriate/relevant choice of examples from content  


• convincing interpretation of the examples chosen 


• argumentation/linkage between examples/drawing reasoned conclusions  
 
It is not expected that answers will be uniformly successful in all aspects. Examiners should 
first establish which Band for each AO is most appropriate to the response as a whole, then 
adjust up/down within the Band to reflect particular strength/weakness in any one respect. 
The separate figures awarded for each AO should be displayed on the script, then added 
together to give the total mark for the question.  
 


 AO2: Characteristics of performance AO3: Characteristics of performance  


Band 3 


5-6 marks 


• shows thorough knowledge of the 
material available 


• examples are extensive, well 
selected and fully integrated into 
the argument  


5-6 marks 


• thoroughly convincing/perceptive/ 
imaginative interpretation  


• generally draws conclusions from 
the evidence 


Band 2 


3-4 marks  


• shows some sound knowledge of 
the material available  


• a range of relevant examples to 
support the argument, but either 
limited in number or not always 
precise  


3-4 marks  


• some convincing/perceptive/ 
imaginative interpretation  


• makes some links/draws some 
conclusions from the evidence  


Band 1 


1-2 marks 


• shows slight or generally 
inaccurate knowledge of the 
material available  


• a small range of examples, not 
always relevant to the question  


1-2 marks 


• slight or generally unconvincing 
interpretation of examples 


• a limited attempt to make 
links/draws some conclusions 
from the evidence  


 0 marks 


• no relevant response  


0 marks 


• no meaningful attempt to link the 
question to the material  
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Everything so far is about the baths....
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5. ‘For most inhabitants of a Roman town, everything they needed was in the forum.’


To what extent do you agree with this statement? [12]


In your answer you should:


• present a balanced and logical argument


• support your argument with details of the amenities in the forum and elsewhere in a
Roman town


• write in continuous prose without bullet points.
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   AO2 AO3 


3.  
(a) (i) 


He has remained loyal to the Romans 
(Accept he helped enslave the people) 
 


(1)  1 


(ii) Two points, supported by evidence. 
He regards them as being enslaved – admits that the Romans 
used Cogidubnus to do this 
The Britons needed to be controlled – a colony of veteran 
soldiers was set up in the area 
Cogidubnus was given control over other tribes – seen as a 
bargaining chip by the Romans? 
Only saw them as property/not being worth anything/as inferior – 
had no qualms about making them slaves 
 


(4) 2 2 


(b) One of: 
He ruled on behalf of the emperor in his area (1) he collected 
taxes on the Romans’ behalf (1) he kept the peace in southern 
Britain (1) 
 


(1) 1  


 
 Total marks for question 3: [6] 


 


   AO2 AO3 


4.  Improvements 
Romans built an extensive network of roads – all major towns 
now connected via the shortest routes possible/made travel 
easier 
Roman road building techniques were highly developed – led to 
much better surfaces on which to travel by cart/horse 
Milestones introduced – gave indication of how far a person 
needed to travel 
The roads were straight – took the quickest route for a faster 
journey/good visibility 
 
Accept any sensible answers 
 
Difficulties 
When travelling long distances, people had to use inns – 
innkeepers were often dishonest  
Journey times were affected by mode of transport – many people 
had no access to carriages/horse and had to walk. 
Robbers and thieves – could be dangerous travelling 
Roman roads were limited by area – which meant that in many 
parts of Britain, travellers had to use tracks/paths 
 
Accept any sensible answers 
 


(4) 2 2 


 
Total marks for question 4: [4] 


 


  












1


0


4


5





		SCRIPT A14

		SCRIPT A09

		SCRIPT B03

		SCRIPT B11

		SCRIPT A01

		SCRIPT A43

		SCRIPT B07

		SCRIPT B10

		Blank Page










31


1


2


4


1





		SCRIPT A14

		SCRIPT A09

		SCRIPT B03

		SCRIPT B11

		SCRIPT A01

		SCRIPT A43

		SCRIPT B07

		SCRIPT B10

		Blank Page










14 © WJEC CBAC Ltd. (C990UB0-1)


3. Look at this extract from Tacitus and answer the questions.


The nearest part of Britain was gradually made into a province. A colony of veteran 
soldiers was set up there. Some tribal states were handed over to King Cogidubnus who 
has remained completely loyal down to our own times. This is a good example of how we 
Romans use even kings to help us make people slaves.


(a) (i)	 According to the extract, why is Tacitus praising Cogidubnus? [1]


(ii) 		What seems to be the attitude of the Romans towards the Britons? Make two
points and support your view with evidence from the extract. [4]


(b) Using your own knowledge, state what other help Cogidubnus gave to the Romans?
Give one example. [1]


6
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   AO2 AO3 


5. Luxurious and comfortable lifestyle 
Roman style villas built (e.g. Chedworth, Lullingstone) 
Often built to take advantage water supply 
And the sun (Columella) 
Huge complexes with many rooms 
Dining rooms for entertaining 
Underfloor heating 
Rooms decorated with beautiful mosaics – details from 
Lullingstone, Chedworth etc. 
Had suites of baths with full range of rooms  
Gardens with colonnades and fountains 
Efficiently run farms linked to villas 
Had mills to provide flour for everyone 
Produced oil and wine that could be sold or traded 
Proximity to roads gave access to markets, and therefore wealth  
 
Management of the estate 
Slaves would have been needed to run the house, baths and 
garden 
There was a designated farm manager, the vilicus (bailiff) 
He was responsible for supervising the slaves 
Took the workload away from the villa owner 
Stables for horses 
Depended on slave labour - “farming equipment with voices” 
Harsh life 
Some slaves kept in cells 
Others in chains 
Began work “at crack of dawn” 
Shepherds/oxherds often lived with their animals 
Food for workers was rationed 
Workers given leather cloaks to give protection against the 
weather 
Could use new equipment which (possibly) made the work 
easier, such as ploughs 
 
Allocate marks using grid for 12-mark questions. Do not reward 
overlapping information. 
 


(12) 6 6 


 
Total marks for question 5: [12] 


Total marks for paper: [40] 
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Assessment of 12-mark questions  
 
These questions should not be assessed on a point-by-point basis. Rather, examiners 
should use the grid below to assess the extent to which responses broadly meet the 
following requirements: 
 


• appropriate/relevant choice of examples from content  


• convincing interpretation of the examples chosen 


• argumentation/linkage between examples/drawing reasoned conclusions  
 
It is not expected that answers will be uniformly successful in all aspects. Examiners should 
first establish which Band for each AO is most appropriate to the response as a whole, then 
adjust up/down within the Band to reflect particular strength/weakness in any one respect. 
The separate figures awarded for each AO should be displayed on the script, then added 
together to give the total mark for the question.  
 


 AO2: Characteristics of performance AO3: Characteristics of performance  


Band 3 


5-6 marks 


• shows thorough knowledge of the 
material available 


• examples are extensive, well 
selected and fully integrated into 
the argument  


5-6 marks 


• thoroughly convincing/perceptive/ 
imaginative interpretation  


• generally draws conclusions from 
the evidence 


Band 2 


3-4 marks  


• shows some sound knowledge of 
the material available  


• a range of relevant examples to 
support the argument, but either 
limited in number or not always 
precise  


3-4 marks  


• some convincing/perceptive/ 
imaginative interpretation  


• makes some links/draws some 
conclusions from the evidence  


Band 1 


1-2 marks 


• shows slight or generally 
inaccurate knowledge of the 
material available  


• a small range of examples, not 
always relevant to the question  


1-2 marks 


• slight or generally unconvincing 
interpretation of examples 


• a limited attempt to make 
links/draws some conclusions 
from the evidence  


 0 marks 


• no relevant response  


0 marks 


• no meaningful attempt to link the 
question to the material  
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5. ‘For most inhabitants of a Roman town, everything they needed was in the forum.’


To what extent do you agree with this statement? [12]


In your answer you should:


• present a balanced and logical argument


• support your argument with details of the amenities in the forum and elsewhere in a
Roman town


• write in continuous prose without bullet points.











